>
A 2 0 & At =
S 204 LBSIA CHHE M2
e M2
TN HE 2 29
HEE 2 25 CERED
= _ — d =
HH - B (3H) - KA - BYS 0l &t o il Bl RE2
CHHE M 2 1,369,937 1,281,863 88,074
=2 19,320
Xl 152,000
Al 246,140
T Hl 952,477
S3AS BE & 2F 1,251,041 1,163,524 87,517
= 19,320
Xl 152,000
Al 246,140
T Hl 833,581
SENEE & 2SS 154,226 141,836 12,390
Al 25,000
-l 129,226
=7 115,356 107,356 8,000
Al 25,000
I 90,356
201 et 7,356 7,356 0
01 At 2teltl 7,356 7,356 0
oz == 1,956
=N 1,572
- D20l EE 20,0003 x 18128 240
-3EE2 2 18,000& »22 122 432
-AdYE 2 4 15,0003 x5 «12& 900
PNR=DN 12,0003 »2F «12& 288
ENLS DN 4,000 22«12 96
O&X == 10,0003 x455 +12& 5,400
405 XHoHF S HI 108,000 100,000 8,000
AlHI 25,000
T Hl 83,000
02 = A=l 108,000 100,000 8,000
OEAM-Y 108,000
2ot Y M2 EAN 13,000& =8,000& 104,000
AlHI 25,000
T Hl 79,000
- CIXIE€XtZ(CD,0V0 S) 25,000 » 1604 4,000
Axtz Hel 7,840 7,840 0
201 et 7,840 7,840 0
01 AtS 22l b 7,840 7,840 0
OZAHXE 88 79 7,840
=F ot 10&%12,000% 120
HZE ct¥ 2ESH Y 203 %12,000% 240
FHJIs otd ESH Y 30&*12,000& 360
RFID EH 2 500& *12,000& 6,000
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A GHEA2
B ZBCHD HE L 29
2 SAEE 2 IEHSE (&)
SA - BB B () - MM - BES Ol &t o San HmEET
-RFID S AEIH 20&x12,000& 240
CEHEEA 110,000& 32 330
- COAIOl A& 2753 %2,000% 550
SMEE MEFA 10,230 8,440 1,790
201 L2l 9,230 8,440 790
01 At 22l 9,230 8,440 790
OSsAKNe & A 2,660
2IES 200,000& 200
A= 80,000 »3H 240
CEBAE=E EZ 1,000, 000& *13] 1,000
T8 3¢ 500,000& * 13l 500
=9 80,0003 *90H 720
O M2 =2t AL 1,980
A= 80,000& »2H 160
2IEF 100,000& 100
-EA=E EH 500,000& x13] 500
- 39z 500,000& x13] 500
=R 80,000& 9K 720
O5&38 e olY &At 360
A 80,000 x2H 160
2IES 200,000& 200
O=M &4 1,630
SSAEH(AHE0 SHARAX)
10,000& x5H «12& 600
98 O2l0la AN 2ELAESE
150, 000& 14! 150
HelolsAMa ZA=E 80,000& x113l 880
Oogst=Mn A 800
A= 80,000& *43] 320
2IES 200,000 »23| 400
&0 40,000 *2K 80
OHHIAEIA 23 6,000 2521128 1,800
301 L2 A= 1,000 0 1,000
MIIEBELSS 1,000 0 1,000
ONE0IAE T SAE THASAX &H]
1,000, 000& 1,000
gddsts 29 20,800 18,200 2,600
201 Let49] 20,800 18,200 2,600
01 At 22l 20,800 18,200 2,600
O=232 & 2 A== 80,0003 %103 x84 2 & 6,400
O%A=20 2z ZA=+E
80,000& x103] x201 2 & 1,600




2N OHEMZ
MM DR HE L 29
el SHNE YU NS EER-ED
- _ . RE!
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
|| OXE3 NS ZAE 80,0002 *8L x203] 12,800
TZRCHD 29 1,096,815 1,021,688 75,127
= 19,320
Xl 152,000
AlHI 221,140
=] 704,355
2HETH AE 969,000 946,000 23,000
X 152,000
Al HI 177,000
2H 640,000
307 212+0| & 969,000 946,000 23,000
X 152,000
AlHI 177,000
2HI 640,000
05 DIzt etz 969,000 946,000 23,000
o¥sxZ=2 969,000
AR 2 506,000,000 506,000
X 152,000
AlLHI 177,000
2 177,000
29y 463,000,000 463,000
sX2al oF 2t 38,640 0 38,640
= 19,320
AlHI 19,320
101 Q1A Hl 32,640 0 32,640
= 16,320
AlLHI 16,320
04 J12HHI 2 32,640 0 32,640
OZ& Xt 32,640,0002! 32,640
= 16,320
Al HI 16,320
201 Yot 6,000 0 6,000
= 3,000
AlH 3,000
01 At 22 6,000 0 6,000
OZ8 &t 6,000,000% 6,000
= 3,000
AlHI 3,000
2OIRZ2 A Of 24,820 0 24,820
AlHI 24,820
101 @124 16,320 0 16,320
Al HI 16,320
04 JI2tHI2 2 Xt 16,320 0 16,320
OO0lRI0IX 2 29 16,320,000 16,320
AlHI 16,320
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AN A2

B ZBCHD HE L 29
el ZBEHE 29 (ol @)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
201 Bt A | 8,500 0 8,500
Al Hl 8,500
01 At 22l Yl 8,500 0 8,500
OOZI0IXHEA OF2teI® 2% 8,500,000% 8,500
AlH] 8,500
TS 22X 22,338 20,094 2,244
201 et A | 7,495 7,495 0
01 AFR2t2ldl 7,045 7,045 0
ORg9EE 4,745
3AIE Tmely 2= 22,000& x5 110
M2 TelfZ A 66,0003 x58F A 330
- ASUHE Etgdl EX 125,000& *35F A 375
gy JtECX 150, 000& *8CH 23] 2,400
A IXHE Hl Y 132,000& *» 108+ A 1,320
d4D SEY 14,000 158 A 210
O3JINE HE 1, 150& *2,0000H 2,300
02 352494l 450 450 0
O M2 3l 450
S22 ANZE S (H3H]) 150, 000& 150
ZECANZEI(H3H]) 300,000& 300
203 @R =&Y 1,000 1,000 0
03 A =X R =XIH| 1,000 1,000 0
OENZ2Y IRFX 1,000,000& 1,000
301 dBEtE A= 8,405 8,761 A\ 356
0B A ERILAZ 8,405 8,761 A 356
OttENd2 298X 8,405
- S3 161,000& x2H x12& 3,864
= AH| 6,000& x2H x222 x12& 3,168
mE==3s| 2,600 x2H %222 x12& 1,373
405 XH &k S| 5,438 2,838 2,600
01 AL 2B F SHI 5,438 2,838 2,600
O Xs A At 2,840,000& * 14 2,840
Ooelol Xtz al At 2,598,000& x 14 2,598
SHE HEAAY 29 33,016 32,885 131
201 et A | 33,016 32,885 131
02 3524l 33,016 32,885 131
OQUHAANAE X2 14,200,000& *7% 994
OAMBH (X222l , ZHO0IX, ZALue) SN2
30,000, 000& *7% 2,100
OCCTV AlAE SXNE % 40,800,000 *7% 2,856
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AN A2

B ZBCHD HE L 29
el ZBEHE 29 (S &2)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
OUESRA KBS 6,348
-UHERZA & 64,089,074& *7% 4,487
Z A XA AE(IPS) 20,699,592& *7% 1,449
HE MEAEX(UPS) 5,880,000& *7% 412
OXAMEH(ZEH) RXES 18,700,000 *7% 1,309
O=SHO0IA |RXNE= 2,696
SHOIX RANLE== 15,000,000& *12% 1,800
SHOIX S AMHlA Nz N2
5,600,000& *16% 896
Oz &eAAE KXNES 12,771
- DetA 3 1,505,099& * 14 1,506
- Ol Ol & 8l O] A (ORACLE) 6,200,000& *12% 744
- RFID&HI 147,429,700& *7% 10,321
- SMS S AFAIAE 200,000& * 14! 200
OXSAAAE SXNES 107,800& x12& 1,294
Ol &0l AHHIA Ol82 660,000& 660
O&EZMAHAIAE SXNES
17,026,380 «10%+3, 800,000 *10%*(9/12€ ) 1,988
S A2 AES JletAast 9,001 22,709 AN 13,708
201 LEt2 Y| 6,001 9,609 N 3,608
01 AFR2t2l bl 6,001 6,309 A 308
Odtold A BHAL S/W 2,061
- PCE WAl S/W 18,200& *74 2 1,347
S AHE BHAL S/W 357,000 x2& 714
OMSEXAMHIA Olg2 18R+ 15,0002 128 3,240
O MEH A2 F 700
-PC AR 200,000& =23 400
- BHOIH Y 300,000& 300
405 Xt&HE S| 3,000 13,100 A10,100
01 A&t =S F SHI 3,000 13,100 A 10,100
ORI U321 &X
1,000,000 » 14 1,000
OHNAAUPS HIE 2] WXl 2,000,000 2,000
BHS BB (CHZAR) 118,896 118,339 557
ol 23| 48,735 48,040 695
ol 48,735 48,040 695
101 @121l 48,735 48,040 695
02 JIEt8 2 48,735 48,040 695
OAPA AlZEE SR LDIHM(0F2)(2Y) 48,735
- S 15,750,000& x2H 31,500
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2N
CHESGEH(TCUHEAR)
el

X ZH
S =

CHOH &= A 2

TEET

[

SA - HY.B(E) - NRAY - B il 2
ANZtIZ R 3,789 20AI 2H+2H « 128 1,819
- MG A 130,000& »2H 128 3,120
] 240,000% «7/8x2H x 12& 5,040
Mg 2Ll 105,000& +7/8x2% 122 2,205
IHEE 40,0003 x2H 128 960
- SOt Al
1,312,500 *84%*86%x1/30*1/7*119A| 2t +2H 1,075
SHEERES 3,016,000 3,016
|23 bl 70,161 70,299 A 138
Jl23Hl 70,161 70,299 A 138
201 £B-2%H| 66,841 66,979 A 138
01 At 22l 7,178 7,678 A 500
ORNME2E=EHl 2,880,000& 2,880
OJlegef+=d Sl 2,688,000 2,688
O=IA3 3Io&EN ¢ 1,610
SN2 2EASE 70,000& x11H x 13| 770
AWEI AR 70,0003 x3H %43 840
02 3322l 59,663 59,301 362
O&Il=z 3,125,500& x12& 37,506
O&ot+=E= 700,000& 123 8,400
osE= 270,000& 270
OQHY sldz 771,000& «12& 9,252
OQHY TV AAZ2Z 48,8403 123 587
OANE 2Lz (HE) 500,000& »23] 1,000
OXt& Al 2,600,000& 2,600
OAEetdE 3t 48,0003 48
203 ¥ S =&l 3,320 3,320 0
02 33t H R =8| 320 320 0
OF RIS R =& 320,000& 320
04 EAN2IHRFEHI 3,000 3,000 0
ORAN2EIRFEHI 3,000,000& 3,000
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